
 
 

Mathematics Calculation Policy 2021-22 
 
 
Summary 
This calculation policy has been devised to support all staff at Stepping Stones School in understanding the expectations of the National Curriculum. It will 
ensure a whole school understanding of when a child should learn new calculation concepts in alignment with their mathematical development.  
 
Principles 
• At Stepping Stones we are focused on developing proficiency with the expected formal written methods for the end of Year 6. The progression guidance 

for each operation (detailed in this policy) is designed to flow into these expected methods.  
 

• We acknowledge that our children come from a variety of schools and, as such, upon entering our school, discussions will be held with the pupils and/or 
their mainstream schools to ascertain the calculation methods they have been taught/are confident using.  

• This policy provides examples of a variety of mental and written calculation methods for each operation. These methods are drawn from the AET 
Mathematics Calculation Policy (credit to Academies Enterprise Trust) and the Lancashire Calculations Policy.  

• There is an extended version of the Lancashire Calculations Policy for each operation on our school server to be accessed for further support/ 
clarification/exemplars. This should be used alongside the LAPs document.  
 

• This policy suggests specific practical equipment and approaches for each year group to support our pupils in developing the conceptual understanding 
that will enable them to move more rapidly and efficiently towards the formal written methods expected.  

• Many of our children are working below or significantly below their age related expectations. Children will be taught and supported in using the calculation 
methods for the age related expectations year group they are currently working within and not their chronological age year group. Through this 
differentiated approach teachers will be able to use methods and materials from earlier year groups to bridge any gaps in a child’s understanding.  

• The ‘Written Methods’, ‘With jottings … or in your head’ and ‘Just know it’ sections list the National Curriculum expectations for each year group for 
calculation.  

• The ‘Foundations’ section for each year group highlights the skills and knowledge that should be addressed on a regular basis within this year group to 
ensure that children have the necessary fluency to address the new approaches required.  



WƌŝƚƚĞŶ 
MĞƚŚŽĚƐ

Read, ZriWe and inWerpreW 
maWhemaWical sWaWemenWs inYolYing 
addiWion (+), sXbWracWion (±) and 
eqXals (=) signs

Add and sXbWracW WZo WZo-digiW 
nXmbers Xsing concreWe objecWs, 
picWorial represenWaWions 
progressing Wo formal ZriWWen 
meWhods 

4 6
                       + 2 7
                          7 3
                                         1

Add and sXbWracW nXmbers ZiWh Xp 
Wo Whree digiWs, Xsing formal ZriWWen 
meWhods of colXmnar addiWion and 
sXbWracWion

4 2 3
                      +   8 8

5 1 1
                                      1   1

Add and sXbWracW nXmbers ZiWh Xp Wo 4 
digiWs Xsing Whe formal ZriWWen meWhods 
of colXmnar addiWion Zhere appropriaWe

  2 4 5 8
+   5 9 6
  3 0 5 4

                                          1  1   1

Add and sXbWracW Zhole nXmbers 
ZiWh more Whan 4 digiWs, inclXding 
Xsing formal ZriWWen meWhods 
(colXmnar addiWion and 
sXbWracWion)

SolYe addiWion and 
sXbWracWion mXlWi-sWep 
problems in conWe[Ws, 
deciding Zhich operaWions 
and meWhods Wo Xse and 
Zh\

DĞǀĞůŽƉŝŶŐ 
ĐŽŶĐĞƉƚƵaů 

ƵŶĚĞƌƐƚaŶĚŝŶŐ

NXmber bonds

     (Ten frame)                     NXmicon

Use bonds of 10 Wo calcXlaWe bonds of 20

CoXnW all

CoXnW on

CoXnW on, on nXmber Wrack, in 1s

NXmber Wrack / NXmber line ± jXmps of 1 
When efficienW jXmps Xsing nXmber bonds
18 + 5 = 23
         
         
46 + 27 = 73    CoXnW in Wens When bridge.

25 + 29 b\ + 30 When -1
(RoXnd and adjXsW)

ParWiWion and recombine
        46 + 27         =         60 + 13   = 73

24 +10
     +10
     +10 = 54

NXmber line:   264 + 158 efficienW jXmps

40 + 80 = 120 Xsing 4 + 8 = 12
So 400 + 800 = 1200

243 + 198 
b\ +200 When -2
(RoXnd and adjXsW)

Pairs WhaW make 100
23 + 77

Place YalXe coXnWers, 100s, 10s, 1s
264 + 158                       

 

= 422
(Also ZiWh �, 10p and 1p)

Place ValXe CoXnWers 2458 + 596

ShoZ 2458 and 596  

Combine Whe 1s. 
E[change Wen 1s  
for a 10 coXnWer. 

Combine Whe 10s. 
E[change Wen 10s 
for a 100 coXnWer.

Combine Whe 100s.
E[change Wen 100s 
for a 1000 coXnWer

Read final ansZer
Three WhoXsand and
fifW\-foXr.  

SeW oXW Whe calcXlaWion
In colXmns. 

Find Whe sXm of Whe ones. 
4 ones + 6 ones = 10 ones
(or 1 Wen and 0 ones)
so record 0 in Whe ones and
1 beloZ Whe line in Whe Wens. 

Find Whe sXm of Whe Wens. 
5 Wens + 9 Wens + 1 Wen 
= 15 Wens (or 1 hXndred
and 5 Wens) so record a
5 in Whe Wens and 1 beloZ
Whe line in Whe hXndreds. 

Find Whe sXm of Whe hXndreds. 
4 hXndreds + 5 hXndreds 
+ 1 hXndred = 10 hXndreds
(or 1 WhoXsand and 
0 hXndreds) so record a 
0 in Whe hXndreds and a 
1 in Whe WhoXsands.

Find Whe sXm of Whe WhoXsands. 
3 WhoXsands + 1 WhoXsand 
= 4 WhoXsands so record a 
4 in Whe WhoXsands colXmn. 

Find Whe sXm of Whe Wen WhoXsands. 
There are onl\ 2 Wen WhoXsands
so record a 2 in Whe final colXmn

WŝƚŚ ũŽƚƚŝŶŐƐ

͙ Žƌ ŝŶ ǇŽƵƌ 
ŚĞaĚ

SolYe one-sWep problems WhaW 
inYolYe addiWion and sXbWracWion, 
Xsing concreWe objecWs and picWorial 
represenWaWions, and missing 
nXmber problems sXch as 7 =  ± 9

Add and sXbWracW nXmbers Xsing 
concreWe objecWs, picWorial 
represenWaWions, and menWall\, 
inclXding:
Ύ a WZo-digiW nXmber and ones
Ύ a WZo-digiW nXmber and Wens
Ύ WZo WZo-digiW nXmbers
Ύ adding Whree one-digiW 

nXmbers

Add and sXbWracW nXmbers 
menWall\, inclXding:
Ύ a Whree-digiW nXmber and ones
Ύ a Whree-digiW nXmber and Wens
Ύ a Whree-digiW nXmber and 

hXndreds

SolYe addiWion and sXbWracWion WZo-sWep 
problems in conWe[Ws, deciding Zhich 
operaWions and meWhods Wo Xse and 
Zh\

Add and sXbWracW nXmbers 
menWall\ ZiWh increasingl\ large 
nXmbers

Perform menWal calcXlaWions, 
inclXding ZiWh mi[ed 
operaWions and large 
nXmbers

JƵƐƚ ŬŶŽǁ ŝƚ͊
RepresenW & Xse nXmber bonds and 
relaWed sXbWracWion facWs ZiWhin 20
Add and sXbWracW one-digiW and WZo-
digiW nXmbers Wo 20, inclXding ]ero

Recall and Xse addiWion and 
sXbWracWion facWs Wo 20 flXenWl\, and 
deriYe and Xse relaWed facWs Xp Wo 
100

YĞaƌ 1 2 3 4 5 6

FŽƵŶĚaƚŝŽŶƐ

1 more 10 more
NXmber bonds: 20, 12, 13 Add mXlWiples of 10, 100 Add mXlWiples of 10s , 100s, 1000s Add mXlWiples of 10V , 100V, 1000V, WeQWhV, Add mXlWiples of 10V , 100V, 1000V, 

WeQWhV, hXQdUedWhV

NXmber bonds: 5, 6 NXmber bonds: 14,15
Add 1 digiW Wo 2 digiW b\ bridging.

Add single digiW bridging WhroXgh 
boXndaries FlXenc\ of 2 digiW + 2 digiW FlXenc\ of 2 digiW + 2 digiW inclXding ZiWh 

decimals
FlXenc\ of 2 digiW + 2 digiW 

inclXding ZiWh decimals
LargesW nXmber firsW.
NXmber bonds: 7, 8

ParWiWion second nXmber, add Wens When 
ones

ParWiWion second nXmber Wo add
Pairs of 100

ParWiWion second nXmber Wo add
Decimal pairs of 10 and 1 ParWiWion second nXmber Wo add ParWiWion second nXmber Wo add

Add 10.
NXmber bonds: 9, 10

Add 10 and mXlWiples.
NXmber bonds: 16 and 17 Use near doXbles Wo add Use near doXbles Wo add Use nXmber facWs, bridging and place 

YalXe
Use nXmber facWs, bridging and 

place YalXe

Ten plXs ones.
DoXbles Xp Wo 10

DoXbles Xp Wo 20 and mXlWiples of 5
Add near mXlWiples of 10. Add near mXlWiples of 10 and 100 b\ 

roXnding and adjXsWing
AdjXsW boWh nXmbers before adding

Add near mXlWiples AdjXsW nXmbers Wo add AdjXsW nXmbers Wo add

Use nXmber bonds of 10 Wo deriYe bonds 
of 11

NXmber bonds: 18, 19
ParWiWion and recombine ParWiWion and recombine ParWiWion and recombine ParWiWion and recombine ParWiWion and recombine

AGGLWLRQ

ͺ
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Stage 1 - EYFS 
 
 

Children are taught that addition is the combining of two or 
more amounts. They begin by counting all of the items in the 
groups, then move on to counting on from the largest 
amount. Children are encouraged to develop a mental image 
of the size of numbers. They learn to think about addition as 
combining amounts in practical, real life situations.  
They begin to record addition number sentences such as  
2 +  4 = 6 and 8 = 3 + 5 and 3 + 2 + 4 = 9 

Stage 2 – Year 1 
Children move on to using Base 10 equipment to support 
their developing understanding of addition.  
 
11 + 5 = 16 
 
11 cubes are lined up (1 ten and 1 unit/one). 
5 cubes are added to the line of 11 giving a total of 16. 

 
 

 
 
If possible, use two different colours of base 10 equipment so 
that the initial amounts can still be seen. 

Stage 3 – Year 2 
Children continue to use the Base 10 equipment to support 
their calculations, including exchanging 10 units/ones for 1 
ten when the total of the units/ones is 10 or more. They will 
record their own drawings of the Base 10 equipment, using 
lines for 10 rods and dots for the unit blocks. 
 
34 + 23 = ? 
The units/ones are added 
first 4 + 3 = 7 
The tens are added next 
30 + 20 = 50 
Both answers are put 
together 50 + 7 = 57 
 
28 + 36 = ? 
The units/ones are added 
first 
8 + 6 = 14 with ten 
units/ones exchanged 
for 1 ten. 
A ring is put around the 
units/ones not 
exchanged ʹ this is the 
units part of the answer. The tens are then added, including 
the exchanged ten, to complete the sum. 

Stage 4 – Year 3 
65 + 27 

 

Stage 5 – Year 3-6 
 

 
 
 

 
 
This is the final stage of the method, and should be continued 
to be used for all written addition calculations. 
The eǆample top left ǁould be ͚said͛ as follows: 
5 + 8 = 13, put 3 down and carry the 10 
20 + 40 + 10 that was carried over = 70 (7 written in the tens 
column) 
600 + 0 = 600 (6 written in the hundreds column) 
 
Children will be expected to use this method for adding 
numbers with more than 3 digits, numbers involving decimals 
and adding any number of amounts together. 

 
Children should not be made to go onto the next stage 
if: 
  

1)  they are not ready. 
2)  they are not confident. 

 
Children should be encouraged to consider if a mental 
calculation would be appropriate before using written 
methods. 
 



SXEWUDFWLRQ

WƌŝƚƚĞŶ 
MĞƚŚŽĚƐ

Read, ZriWe and inWerpreW 
maWhemaWical sWaWemenWs inYolYing 
addiWion (+), sXbWracWion (±) and 
eqXals (=) signs

Add and VXbWUacW WZo WZo-digiW 
nXmbeUV XVing concUeWe objecWV, 
SicWoUial UeSUeVenWaWionV 
SUogUeVVing Wo foUmal ZUiWWen 
meWhodV          6     1

                          7 3
                       -  4 6
                          2 7
                       

Add and sXbWracW nXmbers ZiWh Xp 
Wo Whree digiWs, Xsing formal ZriWWen 
meWhods of colXmnar addiWion and 
sXbWracWion       2     3   1

                          3 4 4
                       -  1 8 7
                          1 5 7

Add and sXbWracW nXmbers ZiWh Xp Wo 4 
digiWs Xsing Whe formal ZriWWen meWhods of 
colXmnar addiWion Zhere appropriaWe
                        

Add and sXbWracW Zhole nXmbers ZiWh 
more Whan 4 digiWs, inclXding Xsing 
formal ZriWWen meWhods (colXmnar 
addiWion and sXbWracWion)

SolYe addiWion and 
sXbWracWion mXlWi-sWep 
problems in conWe[Ws, 
deciding Zhich operaWions 
and meWhods Wo Xse and 
Zh\

DĞǀĞůŽƉŝŶŐ 
ĐŽŶĐĞƉƚƵaů 

ƵŶĚĞƌƐƚaŶĚŝŶŐ

NXmber bonds

                                  
     (Ten frame)           Difference beWZeen
                                             7 and 10

6 less Whan 10 is 4

CoXnW oXW, When coXnW hoZ man\ are lefW.

         7 ± 4   =  3

CoXnW back on a 
nXmber Wrack, When nXmber line.
15 ± 6 = 9

Difference beWZeen
13 and 8
13 ± 8 = _ 
8 + _ = 13

NXmber Wrack / NXmber line ± jXmps of 1 
When efficienW jXmps Xsing nXmber bonds
23 ± 5 = 18

         
         
Using a nXmber line, 73 ± 46 = 26
         
         
        
         

Difference beWZeen 73 ± 58 b\ coXnWing 
Xp, 58 + _ = 73

Taking aZa\ and e[changing, 73 ± 46

        µWheUe¶V Whe                   E[change Wo                
      µfoUW\ and Vi[?¶                cUeaWe µVi[W\ WhiUWeen¶
                                             

   µTZenW\ VeYen¶                           

                                        µNoZ Wake aZa\
                                               Whe foUW\ and Vi[¶

Taking aZa\ and e[changing, 344 ± 187   
Place YalXe coXnWers

µWheUe¶V Whe one 
hXndUed and 
eighW\ and 
VeYen?

E[change Wo cUeaWe 
WhUee hXndUed and 
WhiUW\ and foXUWeen.
NoZ Wake aZa\ Whe
µVeYen¶

E[change Wo cUeaWe WZo hXndUed, WhiUWeen 
WenV and VeYen
NoZ Wake aZa\ 
Whe µeighW\¶

NoZ Wake aZa\ 
Whe µone 
hXndUed¶

Taking aZa\ and e[changing, 2344 ± 187
Place YalXe coXnWers

WheUe¶V Whe one hXndUed 

and eighW\- VeYen?

E[change a 10 foU Wen 1V 
Wo cUeaWe WZo WhoXVand, 
WhUee hXndUed and WhiUW\ 
and foXUWeen. 

NoZ Wake aZa\     
µVeYen¶. 

E[change a 100 foU Wen 
10V Wo cUeaWe WZo 
WhoXVand, WZo hXndUed, 
WhiUWeen WenV and 
VeYen.

NoZ Wake aZa\ µeighW\¶

NoZ Wake aZa\ µone 
hXndUed¶

TheUe aUe no WhoXVandV 
Wo Wake aZa\.

SeW oXW Whe calcXlaWion in colXmnV 

The 1V colXmn: foXU VXbWUacW VeYen
BecaXVe VeYen iV gUeaWeU 
Whan foXU, e[change a 10 foU
Wen 1V. So WheUe aUe noZ 
WhUee 10V and foXUWeen 1V. 

FoXUWeen 1V VXbWUacW VeYen 1V

makeV VeYen 1V ± UecoUd WhiV. 
The 10V colXmn: WhUee VXbWUacW eighW. 
BecaXVe eighW iV gUeaWeU 
Whan WhUee, e[change a 100 foU
Wen 10V. So WheUe aUe noZ WZo 
100V and WhiUWeen 10V. 

ThiUWeen 10V VXbWUacW eighW 10V
makeV fiYe 10V ± UecoUd WhiV. 

The 100V colXmn: WZo VXbWUacW one. TZo 
100V VXbWUacW one 100
makeV one 100 ± UecoUd WhiV. 

The 1000V colXmn: WZo 
VXbWUacW one. TZo 1000V 
VXbWUacW one 1000 makeV one 
1000 ± UecoUd WhiV. 
The 10,000V colXmn: WheUe 
aUe onl\ fiYe 10000V ZiWh 
noWhing Wo VXbWUacW.  So UecoUd 
5. 

WŝƚŚ ũŽƚƚŝŶŐƐ

͙ Žƌ ŝŶ ǇŽƵƌ 
ŚĞaĚ

SolYe one-sWep problems WhaW 
inYolYe addiWion and sXbWracWion, 
Xsing concreWe objecWs and picWorial 
represenWaWions, and missing 
nXmber problems sXch as 7 =  ± 9

Add and sXbWracW nXmbers Xsing 
concreWe objecWs, picWorial 
represenWaWions, and menWall\, 
inclXding:
Ύ a WZo-digiW nXmber and ones
Ύ a WZo-digiW nXmber and Wens
Ύ WZo WZo-digiW nXmbers
Ύ adding Whree one-digiW nXmbers

Add and sXbWracW nXmbers 
menWall\, inclXding:
Ύ a Whree-digiW nXmber and ones
Ύ a Whree-digiW nXmber and Wens
Ύ a Whree-digiW nXmber and 

hXndreds

SolYe addiWion and sXbWracWion WZo-sWep 
problems in conWe[Ws, deciding Zhich 
operaWions and meWhods Wo Xse and Zh\

Add and sXbWracW nXmbers menWall\ 
ZiWh increasingl\ large nXmbers

Perform menWal 
calcXlaWions, inclXding ZiWh 
mi[ed operaWions and large 
nXmbers

JƵƐƚ ŬŶŽǁ ŝƚ͊

RepresenW and Xse nXmber bonds 
and relaWed sXbWracWion facWs ZiWhin 
20
Add and sXbWracW one-digiW and WZo-
digiW nXmbers Wo 20, inclXding ]ero

Recall and Xse addiWion and 
sXbWracWion facWs Wo 20 flXenWl\, and 
deriYe and Xse relaWed facWs Xp Wo 
100

YĞaƌ 1 2 3 4 5 6

FŽƵŶĚaƚŝŽŶƐ

1 leVV 10 less
NXmber bonds, sXbWracWion: 20, 12, 13 SXbWUacW mXlWiSleV Rf 10 aQd 100 SXbWracW mXlWiples of 10s , 100s, 1000s SXbWracW mXlWiples of 10V , 100V, 1000V, WeQWhV, SXbWracW mXlWiples of 10V , 100V, 

1000V, WeQWhV, hXQdUedWhV

NXmber bonds, sXbWracWion: 5, 6 NXmber bonds, sXbWracWion: 14, 15 
SXbWracW 1 digiW from 2 digiW b\ bridging

SXbWracW single digiW b\ bridging WhroXgh 
boXndaries FlXenc\ of 2 digiW sXbWracW 2 digiW FlXenc\ of 2 digiW - 2 digiW inclXding ZiWh 

decimals
FlXenc\ of 2 digiW - 2 digiW 
inclXding ZiWh decimals

CoXnW back
NXmber bonds, sXbWracWion: 7, 8

ParWiWion second nXmber, coXnW back in 
10s When 1s ParWiWion second nXmber Wo sXbWracW ParWiWion second nXmber Wo sXbWracW

Decimal sXbWracWion from 10 or 1
ParWiWion second nXmber Wo sXbWracW ParWiWion second nXmber Wo 

sXbWracW

SXbWracW 10. 
NXmber bonds, sXbWracWion: 9, 10

SXbWracW 10 and mXlWiples of 10
NXmber bonds, sXbWracWion: 16, 17 Difference beWZeen Difference beWZeen Difference beWZeen Use nXmber facWs bridging and 

place YalXe

Teens sXbWracW 10. SXbWracW near mXlWiples of 10 SXbWracW near mXlWiples of 10 and 100 b\ 
roXnding and adjXsWing

SXbWracW near mXlWiples b\ roXnding and 
adjXsWing AdjXsW nXmbers Wo sXbWracW AdjXsW nXmbers Wo sXbWracW

Difference beWZeen Difference beWZeen
NXmber bonds, sXbWracWion: 18, 19 Difference beWZeen Difference beWZeen Difference beWZeen Difference beWZeen
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Stage 1 - EYFS 
Children will subtract two numbers by taking one away from 
the other and counting how many are left.  

 
 

Children are encouraged to develop a mental image of the size 
of numbers. They learn to think about subtraction as ‘take 
away͛ in practical, real life situations.  
They begin to record subtraction number sentences such as 8 
ʹ 5 = 3 
 

Stage 2 – Year 1 
Children move on to using Base 10 equipment alongside a 
number track to support their developing understanding of 
subtraction.  
 
13 - 4 = ? 
 
13 cubes are lined up. 
4 cubes are removed from the end of the line leaving 9 left. 
It is important that children keep track of how many have 
been removed. 
 

 
Touch count and remove the number to be taken away. 

Touch count to find the number that remains. 

 

Stage 3 – Year 2 
Children continue to use the Base 10 equipment to support 
their calculations. They will record their own drawings of the 
Base 10 equipment, using lines for 10 rods and dots for the 
unit blocks. 
 
39 - 17 = ? 
39 is drawn 

17 is crossed out 
A ring is drawn around what is left 
to give the answer giving 22 

 
 
37 ʹ 19 = ? 
37 is drawn 
9 units cannot be crossed out, so 
a ten is crossed out and exchanged 
for 10 ones which are in a line. 
e is written next to the exchanged ten. 
19 is crossed out 
A ring is drawn around what is left 
to give the answer 18  
 

Stage 4A – Year 3 

 
Children move from using the Base 10 method to expanded 
vertical method, using base 10 notation and arrow cards. 
Children learn to subtract the least significant digits first (start 
with the numbers on the right and work from right to left). 
The answer to each individual subtraction is written 
underneath before these answers are recombined. 
 

Stage 4B – Year 3  
This stage involves exchange. 
 
It is clear that there are not enough units 
to subtract 6 from 1, so one of the tens 
from the 70 is exchanged for 10 ones. 
 
The initial number 71 is rearranged as 
60 and 11 to make the calculation 
easier. 
 
 
 
This would be recorded by the children 
as: 
 
 
 
 

Stage 5 – Year 4 
This final stage is the compact method of 
decomposition. The example shows how the 
same calculation would be carried out using the 
previous method and the final method. 
Stage 4B 
 
 
 
 
becomes 
 
Stage 5 – Year 4-6 
 
 
 
This is the final stage of the process and will continue to be 
used with larger numbers and numbers involving decimals. 

 

e 



MXOWLSOLFDWLRQ

WƌŝƚƚĞŶ 
MĞƚŚŽĚƐ

Calculate mathematical 
statements for multiplication and 
diǀision ǁithin the multiplication 
tables and ǁrite them using the 
multiplication ;пͿ͕ diǀision ;рͿ and 
equals ;сͿ signs

Write and calculate 
mathematical statements for р 
using the ǆ tables theǇ knoǁ 
progressing to formal ǁritten 
methods͘

MultiplǇ tǁoͲdigit and 
threeͲdigit numbers bǇ 
a oneͲdigit number 
using formal ǁritten 
laǇout

Ϯϰϯ
ǆ    ϲ
ϮϬϱϴ

ϭ

MultiplǇ numbers up to ϰ 
digits bǇ a oneͲ or tǁoͲdigit 
number using a formal 
ǁritten method͕ including 
long multiplication for tǁoͲ
digit numbers

Ϯϰϯ
ǆ ϯϲ
ϳϮϵϬ
ϭϰϱϴ
ϴϳϰϴ

ϭ

MultiplǇ multiͲdigit numbers up 
to ϰ digits bǇ a tǁoͲdigit ǁhole 
number using the formal ǁritten 
method of long multiplication 

ϱϭϳϮ
ǆ  ϯϴ

                      ϭϱϱϭϲϬ
                        ϰϭϯϳϲ
                      ϭϵϲϱϯϲ

ϭ

To mXlWipl\ 5172 b\ 38 find Whe sXm of 
5172 [ 30 & 5172 [ 8. 

5172 [ 30: This is Whe same as 5172 [ 3 
[ 10. Therefore, record a 0 in Whe 1s 
colXmn Wo Wake care of Whe µWen Wimes 
bigger¶ and begin Wo calcXlaWe 5182 [ 3. 

Then calcXlaWe 5172 mXlWiplied b\ 8 and 
record beneaWh:

Finall\ add Whe 
WZo parWs WogeWher: 

DĞǀĞůŽƉŝŶŐ 
ĐŽŶĐĞƉƚƵaů 

ƵŶĚĞƌƐƚaŶĚŝŶŐ

2 frogs on each lil\ pad. 5 frogs on each lil\ pad  
5 [ 3 = 15

5 [ 2 = 2 [ 5

   

BXild Wables on coXnWing sWick

Link Wo repeaWed addiWion

If I knoZ 10 [ 8 = 80 When «

So 13 [ 4 = 10 [ 4 + 3 [ 4

1240

BXild Wables on coXnWing sWick

182406

340X

43 [ 6 b\ parWiWioning

40 [ 6 = 240
  3 [ 6 =   18
43 [ 6 = 258

If I knoZ 4 [ 6 = 24 
Whe 40 [ 60 is Wen Wimes bigger.

13 [ 16 b\ parWiWioning

            10           3

10 

6

100 + 30 + 60 + 18 = 208
BXild Wables on coXnWing sWick

Grid meWhod linked Wo formal ZriWWen meWhod

 

If I knoZ 4 [ 6 When 0.4 [ 6 is Wen Wimes smaller
0.4 [ 0.6 is Wen Wimes smaller again.

WŝƚŚ ũŽƚƚŝŶŐƐ

͙ Žƌ ŝŶ ǇŽƵƌ 
ŚĞaĚ ͙͘

Solǀe oneͲstep problems 
inǀolǀing multiplication and 
diǀision͕ bǇ calculating the 
ansǁer using concrete objects͕ 
pictorial representations and 
arraǇs ǁith the support of the 
teacher

Shoǁ that multiplication of tǁo 
numbers can be done in anǇ order 
;commutatiǀeͿ and diǀision of one 
number bǇ another cannot
Solǀe problems inǀolǀing 
multiplication and diǀision͕ using 
materials͕ arraǇs͕ repeated addition͕ 
mental methods͕ and multiplication 
and diǀision facts͕ including problems 
in conteǆts

Write and calculate mathematical 
statements for multiplication and 
diǀision using the multiplication tables 
that theǇ knoǁ͕ including for tǁoͲdigit 
numbers times oneͲdigit numbers͕ 
using mental methods

Use place ǀalue͕ knoǁn and deriǀed 
facts to multiplǇ and diǀide mentallǇ͕ 
including͗ multiplǇing bǇ Ϭ and ϭ͖ 
diǀiding bǇ ϭ͖ multiplǇing together 
three numbers
Recognise and use factor pairs and 
commutatiǀitǇ in mental calculations

MultiplǇ and diǀide numbers mentallǇ 
draǁing upon knoǁn facts
MultiplǇ and diǀide ǁhole numbers and 
those inǀolǀing decimals bǇ ϭϬ͕ ϭϬϬ and 
ϭϬϬϬ
IdentifǇ multiples and factors͕ including 
finding all factor pairs of a number͕ and 
common factors of tǁo numbers
establish ǁhether a number up to ϭϬϬ is 
prime

Perform mental calculations͕ including 
ǁith miǆed operations and large 
numbers

JƵƐƚ ŬŶŽǁ ŝƚ͊ Count in multiples of tǁos͕ fiǀes 
and tens

Recall and use ǆ and р facts for the Ϯ͕ ϱ 
and ϭϬ ǆ tables͕ including recognising 
odd and eǀen numbers͘

Recall and use ǆ and р facts for the ϯ͕ 
ϰ and ϴ times tables͘

Recall ǆ and р facts for ǆ tables up to 
ϭϮ ǆ ϭϮ͘

Recall prime numbers up to ϭϵ
knoǁ and use the ǀocabularǇ of prime 
numbers͕ prime factors and composite 
;nonͲprimeͿ numbers
Recognise and use square numbers and 
cube numbers͕ and the notation for 
squared ;ϸͿ and cubed ;ϹͿ

YĞaƌ 1 2 3 4 5 6
FŽƵŶĚaƚŝŽŶƐ Count in Ϯs Ϯ ǆ table Reǀieǁ Ϯǆ͕ ϱǆ and ϭϬǆ ϰǆ͕ ϴǆ tables

ϭϬ times bigger
ϰǆ͕ ϴǆ tables

ϭϬϬ͕ ϭϬϬϬ times bigger Multiplication facts up to ϭϮ ǆ ϭϮ

Count in ϭϬs ϭϬ ǆ table ϰǆ table ϯǆ͕ ϲǆ and ϭϮǆ tables ϯǆ͕ ϲǆ and ϭϮǆ tables
ϭϬ͕ ϭϬϬ͕ ϭϬϬϬ times smaller Partition to multiplǇ mentallǇ

Doubles up to ϭϬ Doubles up to ϮϬ and multiples of ϱ Double tǁo digit numbers Double larger numbers and decimals Double larger numbers and decimals Double larger numbers and decimals

Count in ϱs ϱ ǆ table ϴ ǆ table ϯǆ͕ ϵǆ tables ϯǆ͕ ϵǆ tables Multiplication facts up to ϭϮ ǆ ϭϮ

Double multiples of ϭϬ Count in ϯs ϯ ǆ table ϭϭǆ͕ ϳ ǆ tables ϭϭǆ ͕ ϳ ǆ tables
Partition to multiplǇ mentallǇ Partition to multiplǇ mentallǇ
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Stage 1 - EYFS 
Children are encouraged to develop a mental image of the 
size of numbers. They learn to think about equal groups or 
sets of objects in practical, real life situations.  
They begin to record these situations using pictures. 

 
A child͛Ɛ jŽƚƚing ƐhŽǁing fingeƌƐ Žn 
each hand as a double. 
 
 
 
 
 
 
A child͛Ɛ jŽƚƚing ƐhŽǁing dŽƵble 
three as three cookies on each plate. 
 
 
 

 

Stage 2 – Year 1 and Year 2 
Children can then be introduced to the image of a 
rectangular array, initially through real items such as egg 
boxes, baking trays, ice cube trays, wrapping paper etc. and 
using these to show that counting up in equal groups can be 
a quicker way of finding a total. 
Children understand that multiplication is repeated addition 
and that can be done by counting in equal steps/groups. 
 
 
 
or 
 
Children also understand that 3 x 5 is the same as 5 x 3 
 
 
 
 

Stage 3 – Year 3 
Children continue to use arrays and create their own to 
represent multiplication calculations 

 
 

Stage 4 – Year 3 
Children will continue to use arrays to lead into the grid 
method of multiplication. 
14 x 6 
The 14 is partitioned (split) into 10 and 4. 
The answer to 6 x 10 is found = 60 
The answer to 6 x 4 is found = 24 
The two answers are added together 60 + 24 = 84 

 
 
 
 
 

Stage 5 – Year 3 and 4 
In this stage, the array is removed and children use the grid 
method. ThiƐ iƐ an imƉŽƌƚanƚ ƐƚeƉ in ƌeƚaining childƌen͛Ɛ 
understanding of multiplication. 

 

Year 5 and 6 examples 
The grid method can be used for multiplying any 
numbers, including long multiplication and 
multiplication involving decimals.  
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Stage 6 – Year 5 
The grid method should then be taken into an 
expanded vertical layout. 

Stage 7 – Year 5 and 6 
The expanded method should then be taken into the 
compact vertical method.  
The place value columns are still labelled to ensure 
children understand the value of each digit in the 
original number and the answer. 

Stage 8 - Year 5 and 6 
The vertical method for long multiplication builds on 
children being efficient when using grid method. 
Mental addition of the top and bottom rows separately 
will help children identify these answers in the vertical 
method. 
 
 
 
 
 
 
Again the place value columns are labelled to support 
children in understanding the value of the digits in the 
original numbers and in the answer. 
 
                                                 As with other calculations,  
                                                 start with the least  
                                                 significant digit, which  
                                                 means we are doing the  
                                                 equivalent of the bottom  
                                                 row of the grid method  
                                                 from right to left. 
Carried digits are crossed out to avoid confusion as the 
method continues. 
 
                                                 The next step is multiplying 
                                                 by the multiple of 10. This  
                                                 is equivalent to the top row  
                                                 of the grid method. 
                                                 Therefore, if the answer  
                                                 has 2 digits, this is simply  
                                                 put in the correct place.  
                                                 Whereas if the answer has  
                                                 3 digits, the TU digits are  
                                                 put into the answer and the  
                                                 H digit is carried into this  
                                                 column. 
 
                                                 The final step is to add the  
                                                 two answers together. 

Children should not be made to go onto the next stage if: 
  

1)  they are not ready. 
2)  they are not confident. 

 
Children should be encouraged to consider if a mental calculation would be appropriate before using written 
methods. 
 

 



Count in Ϯs͕ ϱs and ϭϬs Ϯ ǆ͕ ϱ ǆ and ϭϬ ǆ tables ϲ ǆ table or reǀieǁ others ϲǆ͕ ϭϮ ǆ tables ϲǆ͕ ϭϮ ǆ tables Double larger numbers and decimals

DLYLVLRQ

WƌŝƚƚĞŶ 
MĞƚŚŽĚƐ

Calculate mathematical 
statements for multiplication and 
diǀision ǁithin the multiplication 
tables and ǁrite them using the 
multiplication ;пͿ͕ diǀision ;рͿ and 
equals ;сͿ signs

Write and calculate mathematical 
statements for р using the ǆ 
tables theǇ knoǁ progressing to 
formal ǁritten methods͘

Diǀide numbers up to 
ϰ digits bǇ a oneͲdigit 
number using the 
formal ǁritten 
method of short 
diǀision and interpret 
remainders 
appropriatelǇ for the 
conteǆt 

 
ϭϵϰ y ϲ

       ϯ   Ϯ
ϲ  ϭ ϵ ϭϮ

ϭϵϮ y ϲ
с ϯϮ

Known multiplication facts͗
ϭϯ͕ Ϯϲ͕ ϯϵ͕ ϱϮ͕ ϲϱ͕ ͙
ϭϬ x ϭϯ с ϭϯϬ͕ ϮϬ x ϭϯ с ϮϲϬ «

Diǀide numbers up to ϰͲdigits bǇ 
a tǁoͲdigit ǁhole number using 
the formal ǁritten method of 
short diǀision ǁhere appropriate 
for the conteǆt

ϱϲϰ y ϭϯ

           ϰ  ϯ r ϱ
ϭϯ   ϱ  ϲ ϰϰ

ϱϲϰ y ϭϯ с ϰϯ r ϱ с ϰϯ 

Diǀide numbers  up to ϰ digits bǇ 
a tǁoͲdigit ǁhole number using 
the formal ǁritten method of 
long diǀision͕ and interpret 
remainders as ǁhole number 
remainders͕ fractions͕ or bǇ 
rounding͕ as appropriate for the 
conteǆt     
ϱϲϰ y ϭϯ           ϰ  ϯ ͘ ϯ  ϴ ͙

ϭϯ    ϱ  ϲ  ϰ ͘  Ϭ  Ϭ ͙
                       ϱ  Ϯ
                           ϰ  ϰ
                        Ͳ  ϯ  ϵ
                                ϱ   Ϭ

      Ͳ   ϯ   ϵ
               ϭ   ϭ   Ϭ
           Ͳ   ϭ   Ϭ   ϰ
                          ϲ

с ϰϯ r ϱ с ϰϯ   с ϰϯ͘ϰ ;to ϭdpͿ

DĞǀĞůŽƉŝŶŐ 
ĐŽŶĐĞƉƚƵaů 

ƵŶĚĞƌƐƚaŶĚŝŶŐ

6 ÷2 = 3 b\ sharing inWo 2 groXps and b\ 
grabbing groXps of 2

HoZ man\ 2s?

15 ÷ 3 = 5 in each groXp (sharing)

                                         Link Wo fracWions

15 ÷ 3 = 5 groXps of 3 (groXping)

10 ÷2 = 5

Use langXage of diYision linked Wo Wables

HoZ man\ 2s?

GroXping Xsing parWiWioning
43 ÷ 3 If I knoZ 10 [ 3 «

Use langXage of diYision linked Wo Wables

HoZ man\ 3s?

GroXping Xsing parWiWioning
196 ÷ 6 If I knoZ 3 [ 6 « When 30 [ 6«

µChXnking Xp¶ on a nXmber line
196 · 6  = 32 r 4                           

Use langXage of diYision linked Wo Wables.

192 ÷ 6 Xsing place YalXe coXnWers Wo 
sXpporW ZriWWen meWhod 

E[change one 
100 for Wen 10s

19 Wens inWo
 groXps of 6

3 groXps so WhaW is 30 [ 6, 
e[change remaining 10 for Wen 1s

So 192 ÷ 6 = 32

WŝƚŚ ũŽƚƚŝŶŐƐ 

͙ Žƌ ŝŶ ǇŽƵƌ 
ŚĞaĚ ͙͘

Solǀe oneͲstep problems inǀolǀing 
multiplication and diǀision͕ bǇ 
calculating the ansǁer using concrete 
objects͕ pictorial representations and 
arraǇs ǁith the support of the teacher

Shoǁ that multiplication of tǁo 
numbers can be done in anǇ order 
;commutatiǀeͿ and diǀision of one 
number bǇ another cannot
Solǀe problems inǀolǀing 
multiplication and diǀision͕ using 
materials͕ arraǇs͕ repeated addition͕ 
mental methods͕ and multiplication 
and diǀision facts͕ including problems 
in conteǆts

Write and calculate mathematical 
statements for multiplication and 
diǀision using the multiplication tables 
that theǇ knoǁ͕ including for tǁoͲdigit 
numbers times oneͲdigit numbers͕ 
using mental methods

Use place ǀalue͕ knoǁn and deriǀed 
facts to multiplǇ and diǀide mentallǇ͕ 
including͗ multiplǇing bǇ Ϭ and ϭ͖ 
diǀiding bǇ ϭ͖ multiplǇing together 
three numbers
Recognise and use factor pairs and 
commutatiǀitǇ in mental calculations

MultiplǇ and diǀide numbers mentallǇ 
draǁing upon knoǁn facts
MultiplǇ and diǀide ǁhole numbers 
and those inǀolǀing decimals bǇ ϭϬ͕ 
ϭϬϬ and ϭϬϬϬ

Perform mental calculations͕ including 
ǁith miǆed operations and large 
numbers

JƵƐƚ ŬŶŽǁ ŝƚ͊ Count in multiples of tǁos͕ fiǀes and 
tens

Recall and use ǆ and р facts for the Ϯ͕ 
ϱ and ϭϬ ǆ tables͕ including 
recognising odd and eǀen numbers͘

Recall and use ǆ and р facts for the ϯ͕ 
ϰ and ϴ times tables 

Recall ǆ and р facts for ǆ tables up to 
ϭϮ ǆ ϭϮ͘

Recall prime numbers up to ϭϵ
knoǁ and use the ǀocabularǇ of prime 
numbers͕ prime factors and composite 
;nonͲprimeͿ numbers

YĞaƌ 1 2 3 4 5 6

FŽƵŶĚaƚŝŽŶƐ

Count back in Ϯs Diǀision facts ;Ϯ ǆ tableͿ Reǀieǁ diǀision facts ;Ϯǆ͕ ϱǆ͕ ϭϬǆ 
tableͿ

Diǀision facts ;ϰǆ͕ ϴǆ tablesͿ 
ϭϬ times smaller

Diǀision facts ;ϰǆ͕ ϴǆ tablesͿ
ϭϬϬ͕ ϭϬϬϬ times smaller Diǀision facts ;up to ϭϮ ǆ ϭϮͿ

Count back in ϭϬs Diǀision facts ;ϭϬ ǆ tableͿ Diǀision facts ;ϰ ǆ tableͿ Diǀision facts ;ϯǆ͕ ϲ ǆ͕ ϭϮǆ tablesͿ Diǀision facts ;ϯǆ͕ ϲ ǆ͕ ϭϮǆ tablesͿ
Partition to diǀide mentallǇ Partition to diǀide mentallǇ

Halǀes up to ϭϬ Halǀes up to ϮϬ Halǀe tǁo digit numbers Halǀe larger numbers and decimals Halǀe larger numbers and decimals Halǀe larger numbers and decimals

Count back in ϱs Diǀision facts ;ϱ ǆ tableͿ Diǀision facts ;ϴ ǆ tableͿ Diǀision facts ;ϯǆ͕ ϵǆ tablesͿ Diǀision facts ;ϯǆ͕ ϵǆ tablesͿ
ϭϬϬ͕ ϭϬϬϬ times smaller Diǀision facts ;up to ϭϮ ǆ ϭϮͿ

Halǀe multiples of ϭϬ Count back in ϯs Diǀision facts ;ϯ ǆ tableͿ Diǀision facts ;ϭϭǆ͕ ϳǆ tablesͿ Reǀieǁ diǀision facts ;ϭϭǆ͕ ϳǆ tablesͿ
Partition decimals to diǀide mentallǇ Partition to diǀide mentallǇ

Hoǁ manǇ Ϯs͍ ϱs͍ ϭϬs͍ Reǀieǁ diǀision facts ;Ϯǆ͕ ϱǆ͕ ϭϬǆ 
tableͿ

Diǀision facts ;ϲ ǆ tableͿ or reǀieǁ 
others Diǀision facts ;ϲǆ͕ ϭϮǆ tablesͿ Reǀieǁ diǀision facts ;ϲǆ͕ ϭϮǆ tablesͿ 

Halǀe larger numbers and decimals Halǀe larger numbers and decimals
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Stage 1 - EYFS 
Children are encouraged to develop a mental image of the 
number system in their heads to use for calculation. They 
should experience practical calculation opportunities 
involving equal groups and equal sharing.  

 
 

 
 

 
 

They may develop ways of recording calculations using 
pictures. 
A child’s jotting showing halving six 
spots between two sides of a ladybird. 

 
 
A child’s jotting 
showing how they shared the apples at 
snack time between two groups. 
 

Stage 2 – Year 1 
Children explore practical contexts where they share 
equally and group equally. 6 ÷ 2 = ? 
Equal sharing (6 shared equally between 2) 
 
6 football stickers are 
shared equally between 2 
people, how many do they 
each get? Children may 
solve this by using a ‘one 
for you, one for me’ 
strategy until all of the 
stickers have been given out. 
 
Equal grouping (How many groups of 2 are there in 6?) 
 
There are 6 football stickers, how many people can have 
2 stickers 
each? 
 

Stage 3 – Year 2 
Children continue to use practical equipment to represent 
division calculations as grouping (repeated subtraction) 
and use jottings to support their calculation. 
 
12 ÷ 3 = ?   Children begin to read this calculation as, 
‘How many groups of 3 are there in 12?’ 

 
At this stage, children will also be introduced to division 
calculations that result in remainders. 
 
13 ÷ 4 = 3 remainder 1 

 

Stage 4 – Year 3 
43 ÷ 8 

 
 
43 ÷ 8 = 5 remainder 3 
 
At this stage, children also learn if the remainder should be 
rounded up or down e.g. 62 ÷ 8 = 7 remainder 6 
 
I have 62p. Sweets are 8p each. How many can I buy? 
Answer: 7 (the remaining 6p is not enough for another sweet) 
Apples are packed into boxes of 8. There are 62 apples. How 
many boxes do I need? 
Answer: 8 (the remaining 6 apples still need to be placed into 
a box) 

Stage 5 – Year 3 and 4 
The previous method of repeated subtraction on a 
number line is continued, but using a vertical number 
line alongside practical equipment. 
The repeated subtraction is made more efficient by 
subtracting ‘chunks’ of the divisor. 

 

Stage 6 – Year 4 
This is the ‘chunking’ method of division in which children 
use key facts of the multiplication tables of the divisor. 
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Stage 7 – Year 5 
During this stage children should become more efficient when using the chunking 
method by not having any subtraction steps that repeat a previous step. For 
example, when performing 196 ÷ 6 an initial subtraction of 60 (10 x 6) and two 
further subtractions of 60 (10 x 6 each) should be changed to a single subtraction 
of 180 (30 x 6).   

 
 

Stage 7 continued – Year 6 
 
 

Children should not be made to go onto the next stage if: 
  

1)  they are not ready. 
2)  they are not confident. 

 
Children should be encouraged to consider if a mental calculation would be appropriate before using written methods. 
 

 


